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There are 18 apples, 21
pears and 19 bananas in
some boxes of fruit.

How many pieces of fruit
are there altogether?
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I think of a number, double
it and add 5.

The answer is 35.

What was my number?
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There are 19 books on the
top shelf and 32 books on
the bottom shelf.
24 of the books are
removed.
How many books are left?
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A spider has 8 legs.
How many legs do 5
spiders have?

Now work out how many
legs 6 spiders have.
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A box holds 35 nuts.
Hows many nuts are left
if you eat 17?
How many nuts are there
in 3 boxes?
How many boxes are needed
to hold 70 nuts?
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I think of a number, then
subtract 12.

The answer is 26.

What was my number?
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A big potato weighs about
1/4 kg on the scales.

Roughly, what would be 
the weight on the scales
of 10 big potatoes?
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A bottle of medicine holds
35 millilitres.
A teaspoon holds 5
millilitres.
How many teaspoons of 
medicine are in the bottle?
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An egg weighs about
50 grams.

Roughly how much would
6 eggs weigh?
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You have £5. Some toys 
are priced £2.70, £1.80,
£1.40, £1.60, £2.20 and
£1.20.

Investigate which three you
could buy.
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Two rolls of tape are 35 cm
and 41 cm long.

What is their total length?

What is the difference in
their lengths?
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Small pizzas cost:
£4.20, £4.40, £4.50, £3.80,
£4.25
Big Pizzas cost:
£5.50, £5.75, £6.00, £4.95,
£5.40
Which two pizzas can you buy
for exactly £10.00?
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Dad bought three packets
of cornflakes at 70p each.

What was his change from
£3?
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Winston offered two silver
coins to pay for a 17p toy.

Investigate how much
change he got.
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A set of paints cost £3.
Parveen saves 20p a week.

How many weeks must
she save for in order to
buy the paints?
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It costs 75p for a child to
swim.

How much does it cost for
two children?
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Anna has a 50p coin and 
three 20p coins.
She pays 90p for a ride on 
the Big Dipper.

How much does she have
left?
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Which 5 coins make 74p?

What other amounts can
you make with five
different coins?
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A bag of carrots weighs 
about1/4 kg on the scales.

Roughly, what would be 
the weight on the scales
of 10 bags of carrots?
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A bottle of water holds
175 millilitres.
A cup of water holds 25
millilitres.
How many cups of water
are in 1 bottle?
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Lucy’s school starts at
9:00am.
It takes 40 minutes to get
to school.

What time does she need
to leave?
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The birthday cake went
into the oven at 10:20.
It came out at 10:45.

How long was it in the 
oven for?
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School lunch takes 50 
minutes.

It ends at 1:00pm

What time does it start?
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Mark got into the pool
at 3:30pm.

He swam for 40 minutes.

What time did he get out
of the pool?
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